1HE J\ER)—-7 U-10 BEyF
20214F5A3H(AM) =MREISDUR

A RE R 1253 =593 - 1293 =Y (HED)
® 9:20 | RERRR | 0 - 1 B> O |sig=rag=r
@ 9:55 [«x/)—O] 0 - 0 BRSE  |sie=ragk=n
®| 10:30 Y3 3 -0 NEERD  |sik=rag=%
@ 11:05 | RERRR | 0 - 0 [|VATS>T|me=rux=-5
®| 11:40 HENe o - 2 H>OD |sk=rigk=5
® 12:15 |«Xx/)t—-O0| 1 - 3 NEE  |ane=ragk=t
@| 12:50 Y3 3 - 1 |UATS>F|ame=-ragr-5
13:25 | RERKR 1 - 0 BEsE  |pre=rag=A
® 14:00 | HN5FE 2 - 2 | YO |me-magr-n
14:35 |Z«XX/)\—=0| Q) - § |UATSIT|me=r =%
@ 15:10 Yk 4 - 0 | B2OD |me-rme=-t

B | 155K

P ZVACl 1
E2Y)K:3 9
RERR 4
NEEmE 4
BH)a 1
UADTS>2T 4
L, 7




2HE JNERU-J U-10 BEYF
20215548 (AR) =HMERI SO R
ST 1253 -593 - 1293 B/ (HEH)
®| 9:20 | X)\—0O - 2 I Hik=f 44 =
@ 9:55 | REMRKER - NER  |ank=rmagk=t
®| 10:30 RS - AT ST |fig=r =5
@l 11:05 |7« x/\—0O - B> |aig=m -
®| 11:40 £y ~ ERRR |are=rage=t
®| 12:15 A - BESE |-
@| 12:50 |\UATS>F - B> O |aik=rige=t
13:25 |71 ZA/)—0O - ZRIRR |aie=rm¥=-5
®| 14:00 =i - BESE  |mi—mogk=n
14:35 A - UADTS ST |ank=re 8%=4

T4 Z)\—0

Yk

B

(EES

RERR

RS

BRa

UADS>T

520




